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1) Read the following passage then answer the questions below:

The rabbit and the tortoise are running in a race. The tortoise is slow. The
rabbit is fast. The animals think that rabbit will come first. The rabbit needs
to take a rest and goes to sleep. But the tortoise walks fast she doesn't need
the rest. She is walking next to the rabbit. The rabbit is running very fast but
he's the second and the tortoise is first. So she is very happy.

A) Tick (\) or (%) :

1. () The rabbit is very slow.
2. () The rabbit is the second.

3. () The tortoise is happy because she is the first.

B) Answer the following questions:

1. Who's in the running race?
2. Who's slow?

3. Who goes to sleep?

C) Find from the passage:
1. The opposite of fast x
2. The meaning of pleased =
D) The under lined pronoun (she) refer to:

Choose the correct answer:

1-Ben's parents (is — have — are) on a cable car in Jericho.
2-The football stadium (am —is — are) very famous.

3-Omar (doesn't —don't — can't) like reading.
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Correct the mistake in the following sentences:

1- Ahmed is (heavy) than Ali. _____
2-Dwight Howard is the (taller).

3-The mouse is (fast) than the cat.
4-The eraser is (short) than the pencil.
5-The Nile is the (long)

6-The lion is the (strong) animal.

7-The boy is the (young) one in this party.

8- An elephant is (heavy) than the monkey

The End Teacher: AkramYounis
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